#### **RESOLUTION NO. 741**

# A RESOLUTION APPROVING THE ENTRY OF A PURCHASE CONTRACT IN EXCESS OF \$75,000 (WEST HAMPTON AVENUE WATER & SEWER REPLACEMENT PROJECT)

WHEREAS, the City Council (the "Council") of the City of Sumter, South Carolina (the "City"), has enacted an Ordinance entitled "An Ordinance Establishing Procurement Procedures for the City of Sumter, South Carolina" (the "Purchasing Ordinance");

WHEREAS, pursuant to the Purchasing Ordinance, the Council must approve by resolution any purchase contract subject to the Purchasing Ordinance that exceeds \$75,000; and

WHEREAS, the Council has been presented with a request to approve a purchase contract in excess of \$75,000;

**NOW, THEREFORE**, be it resolved as follows:

<u>Section 1</u>. The Council hereby approves a purchase contract (the "Contract") for the supplies, services, equipment, or construction identified below:

SUBJECT:

West Hampton Avenue Water and Sewer Replacement Project

(from Salem Avenue to Purdy Street)

**CONTRACTOR:** 

**Barwick Construction Company** 

Sumter, South Carolina

PRICE:

\$470,593.50

**METHOD:** 

Invitation for Bids (Purchasing Ordinance, Section II.B.):

supporting materials are attached.

Section 2. The City Manager is hereby authorized to negotiate, execute, and deliver the Contract on behalf of the City in such form and with such additions, deletions, or modifications, as he deems necessary or prudent.

## ADOPTED THIS $\underline{19^{TH}}$ DAY OF $\underline{JUNE}$ , $\underline{2018}$ , BY SUMTER CITY COUNCIL.

#### CITY OF SUMTER, SOUTH CAROLINA

Joseph T. McElveen, Jr., Mayor

333-Fin 27-2				
Thomas J. Lowery, Mayor Pro Tem	Robert A. Galiano, Jr., Councilman			
Ione J. Dwyer, Councilwoman	Calvin K. Hastie, Sr., Councilman			
David P. Merchant, Councilman	Steven H. Corley, Councilman			
ATTEST:				
Linda D. Hammett, City Clerk				



P.O. BOX 1449 SUMTER, SOUTH CAROLINA 29151

### **MEMORANDUM**

To: Deron McCormick

City Manager

From: Al Harris

Asst. City Manager

Subject: Bid Opening for

Date: June 12, 2018

W. Hampton Water & Sewer Replacement (Salem to Purdy) Project

A bid opening was held at 2:00 p.m. on June 12, 2018 in Conference Room 2 of the City Public Services Complex for the above-referenced project. Bids received were as follows:

Barwick Construction

(Sumter)

\$470,593.50

B&B Construction (Sumter)

\$480,085.00 (Incomplete Bid)

It is suggested that we contract with Barwick Construction as they were the low bidder. Those in attendance were: Tony Butts, Ryan Edwards, Chad Wilsey, Mark Galloway, Barry Odom, & Rich Pring

ITEM BID: W. Hampton Water & Sewer Replacement (Salem to Purdy)

DEPARTMENT: Engineering (R. Edwards)

DATE & TIME: Tuesday June 12, 2018 a 2:00 pm

ITB #: 33-17/18

IIR	# <u>:</u> 33-17/18	Τ.	I	Deb O	material:	B	Dl	
Ilam	Description	Qty Unit		475. 475.	B&B Construction		Barwick Plumbing	
nem	Saw cut, Remove & Dispose	Qty	CINE	Unit Price	Total Price	Unit Price	Total Price	
1	of existing pavement for							
	removal and installation of 8"							
	DIP Sanitiry Sewer line & 6"			}	]			
	water line, sewer & water							
	taps IAW SCDOT Specs.	2900	LE	\$10.00	\$29,000.00	\$12.00	\$34,800.00	
	Furnish/Install 6" DIP water	-	1		4=1,000100		,	
	main. Include all							
	appurtenances needed for							
2	water tie-in and transition of							
	water main & 12 gauge tracer	}						
	wire	1253	LF	\$50.00	\$62,650.00	\$30.50	\$38,216.50	
	Furnish/Install 8" PVC SDR							
	35 sewer main, bed pipe in							
	stone, backfill with clean,							
	compactable material.							
3	Backfill material must be			•				
	acceptable by City Engineer.							
	Include bypass pumping as							
	needed.							
	8' - 10' Deep.	67	LF	\$55.00	\$3,685.00	\$53.50	\$3,584.50	
	10' - 12' Deep	656	LE	\$60.00	\$39,360.00	\$63.50	\$41,656.00	
	12' - 14' Deep	520	LF	\$70.00	\$37,030.00	\$73.50	\$38,881.50	
	Furnish & Install Tee Wye 4"	327		\$70.00	337,030.00	\$73.30	00,100,000	
4	Service Line and clean out to							
7	ROW	23	EA	\$1,000.00	\$23,000.00	\$1,750.00	\$40,250.00	
	Furnish/Install 2" PVC to tie		-	01,000		0.1,7.5.0.0	V 10(200100	
	proposed water main to					l i		
5	exisitng water main, include							
	12 gauge tracer wire.	10	1.F	\$20.00	\$200.00	\$120.00	\$1,200.00	
6	Furnish/Install 12" x 6"							
0	tapping sleeve & valve.	l	EA	\$5,000.00	\$5,000.00	\$7,300.00	\$7,300.00	
7	Furnish/Install 6" x 6"							
	tapping sleeve & valve.	1	EΛ	\$4,000.00	\$4,000.00	\$5,800.00	\$5,800.00	
8	Furnish/Install 6" in-line							
	valve, box & tee.	1	EA	\$2,000.00	\$2,000.00	\$2,450.00	\$2,450.00	
	Furnish/Install 2" square nut	,				** **		
i	in-line valve, box & tee.	1	EA	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	
10	Re-Attach existing Fire	.	[,,	60.000.00	60.000.00	60 400 66	00.400.00	
	Hydrant	1	EA	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00	
	Furnish/Install 45 degree			ļ			156	
	mechanical joint with thrust blocking	2	EA	\$500.00	\$1,000.00	\$1,900.00	¢2 000 00	
12		4	EA	300.00	\$1,000.00	\$1,900.00	\$3,800.00	
	Furnish/Install CTS water		[ [	£1,000,00	614.000.00	6190000	610 200 00	
	taps. 3/4" Short Tap	16	EA	\$1,000.00	\$16,000.00	\$1,200.00	\$19,200.00	
	3/4" Long Tap	9	EA	\$1,200.00	\$10,800.00	\$1,400.00	\$12,600.00	
	Remove/Replace 5' concrete							
13	sidewalk for the removal &							
	installation of existing sewer	70	, ,	£35.00	£6.260.00	£63.00	62 (40 00	
	taps.	70	LF	\$75.00	\$5,250.00	\$52.00	\$3,640.00	

				B&B Co	nstruction	Barwick Plumbing			
Item	Description	Qty	Unit	Unit Price	Total Price	Unit Price	_Total Price		
14	Remove/Replace 1.5' C & G								
	for the removal & installation					13			
	of existing sewer taps &								
	water taps	145	LF	\$0.00	\$0.00	\$45.00	\$6,525.00		
	Remove/Dispose of								
	excavated material,								
	furnish/install select fill	ĺ							
15	material acceptable to City								
	engineer for backfilling								
	trenches. (LOAD TICKETS								
	REQUIRD).	2536	CY	\$0.00	\$0.00	\$25.00	\$63,400.00		
16	Furnish/Install 18" Flowable								
10	60.	533	CY	\$0.00	\$0.00	\$130.00	\$69,290.00		
	Furnish/Install pavement								
17	patching IAW SCDOT								
	encroachment permit	2900	LF	\$0.00	\$0.00	\$24.00	\$69,600.00		
18	Grade & Seed all disturbed								
	areas		LS	\$0.00	\$0.00	\$4,000.00	\$4,000.00		
	TOTAL			UNRESP	UNRESPONSIVE				

ITEMS 14 - 18 (Page 14) are missing from B&B's bid proposal. B&B's bid is deemed UNRESPONSIVE.

6/12/18

